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Al 4,057,926
=AM M 2 (LI HF /A F) 1,562,397 1,029,397 533,000
NEEE 1,562,397 1,029,397 533,000
NEES 1,562,397 1,029,397 533,000
201 Let24d] 1,474,697 916,897 557,800
01 At 22l 1,164,360 859,480 304,880
O&EUME 152 15,000& = 1008 » 128 18,000
OAE &2t 500,000& * 603l 30,000
OANHE I8 22l 25,600
—&0a=za 2¢ 100,000& * 404 4,000
— HOVHIOI Z (6mm) - & 25,0003 = 80 2,000
—0VW ¥ CD #¢ 2,500& = 4004 1,000
— AR Qe = 850,000& ~ 123 10,200
—Z8Nhz UXNEmY M8
5,000& = 128 « 54 * 288 8,400
O3 w2k 7 10,800
—XNXHE 2 1135 6,0008 = 1508 » 128 10,800
Ogx NEEERX &2t
600& = 50,0005 = 33l 90,000
OFQAFEE Z(TV, 2lIR)
350,000,000& * 14 350,000
OFQANEEE (WS, X S)
300,000,000& * 14 300,000
O=2 AN¥ds:e ¢H Jgas WA
10,000,000& » 2H# 20,000
Og= 88 J4(Ls8) MA &=
50,000,000 * 14 50,000
OAZAE QEUAS AMEA 2EX HE
50,000,000& = 14l 50,000
OJIEEdE ME(ME) 100,000,000& * 14l 100,000
OUEAl Al OI0IX &2
50,000,000& * 14l 50,000
OmgyAdH L E28 29 (528 69,960
— DY AMH AR FH X
4,000,000& * 14! 4,000
—JIEEESE AMEY & 32 MEH
20,000,000& = 14l 20,000
— MNENEIT L DX 2S5 M
2,000& = 2004 400
—JIXE HM=& W 10,000& » 1508 1,500
—HUYAE Y B2
1,100,000& = 2500 Ak = 13l 27,500
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—GtOI2HOIE So= HA &
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—EAN =& 2HE3
10,000& = 100¥ * 23] 2,000
—ME2IRASZ(ZHA24H,AHBA A S)
7003 * 2008 * 4L 560
— T AadyH 2FEH| 500,000& * 4« 2,000
2324l 65,337 57,417 7,920
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O8lza E2Z2LIH RALE=
450,000 = 12& 5,400
OYs&EH Sl 11,897
— &I 140,000& * 204 280
— JtOict 50,000& * 5CH 250
— 23BN S 148,000& * 604 888
—HICI23t0 et (L)
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— HICI23t0 2t ()
130,000,000& = 2CH = 3/100 7,800
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— 398 Sl 5,800,000& * 3/100 174
—HIOQEZME 27,000,000& * 3/100 810
OAN&ZEH B2 1,000,000& * 14 1,000
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60,000& = 120H = 123 8,640
03 A2 Z Hl 245,000 0 245,000
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—HUIE oA dHUNER
30,000& = 13/& = 128 360
— SMA QA AHUAEER
30,000& = 12/4& « 128 360
—2H0IS BBOUA AHUANER
30,0003 = 132/& « 128 * 2004 720
—ANEEAZ Y AHILAER
30,000& = 132/4& = 128 360
— 2130 E3%t*A AHHUAES
30,000& = 13/& = 128 360
—OlXs MYDIIHEE AHUAES
30,000& = 13/& = 128 360
— 23033 Uola AHYAES
30,000& = 13l& = 123 360
OXNGSHBHH(FUHBOIEANE) sIdAMES
100,000& * 128 = 1704 20,400
OgZEZLel0l SMS AE = (UMS)
25% * 40,0001 = 12& 12,000
OALOIHAIRl SMS &&=
25% * 100,000 * 43| 10,000
O2Helsa 2 (LAN) MEX
500,000& * 54 2,500
OQgHY Zoel J2tA& & It 4,586
—d=2E0He 30,000& = 81A 2,430
— 250 66,0003 » 262 1,716
—SZhe S=H 220,000& = 2A 440
Odste MBS 200,000& = 12# 2,400
OANEZHISXHI(AAE SE§ERANES) 496,269
—GtERAN SA2=4 261,826
X2 M AIAE
191,800,000& * 7/100 = 1.1 14,769
-EXEE, TAHEEE SE MG
188,159,000& * 7/100 = 1.1 14,489
-EXEel FEAAE(KLIS) APAH
109,273,000& * 7/100 = 1.1 8,415
- OIA& M A B 5,500,000& * 7/100 * 1.1 424
-2H0XS S8 MU
210,087,000& = 7/100 * 1.1 16,177
CEHOIX SYANAY 54
43,182,000& * 7/100 = 6/12 = 1.1 1,663
RY StECIAT SHEHI
111,682,000& * 7/100 * 1.1 8,600
ZIStS Al AE
16,400,000& = 7/100 * 1.1 1,263
HEH D L2 0] AlAE(UMS)
28,300,000& * 7/100 * 1.1 2,180
CHARE BAX =2TAAE(OR)
205,930,000& * 7/100 * 1.1 15,857
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QY S8 MIALEH
57,232,700% * 7/100 * 1.1 4,407
L HIYR S8 AEX
250,000,000 * 7/100 * 1.1 19,250
CHIIE BAND ST
274,275,0002! * 7/100 * 1.1 21,120
SsuA Al B4
132,660,000 * 7/100 * 1.1 10,215
CRAAXNSE 01F3 B FY
136,000,000% * 7/100 * 1.1 10,472
CYESND Ul
671,630,00020 = 7/100 * 1.1 51,716
NN HBY S HES
30,250,9208 * 7/100 * 1.1 2,330
HEHBY ASEHAH (S SPN)
71,500,0008 * 7/100 * 1.1 5,506
HHFLY ASEHIHI(ZHVPN)
63,818,0008 * 7/100 * 1.1 4,914
HHYBY I (L4)
70,410,008 * 7/100 * 1.1 5,422
SHH METZHIUPS(50K)
33,540,000% * 7/100 * 1.1 2,583
SHH METZHIUPS(75K)
39,727,270% * 7/100 * 10/12 * 1.1 2,550
AN HBIIA HS25D)
7,348,000 * 7/100 * 1.1 1,336
UM geas)l
56,665,4502 * 7/100 * 1.1 4,364
HAHA CCTV Al AE
8,273,000 * 7/100 * 1.1 1,408
=P PPN
64,132,008 * 7/100 * 1.1 4,939
CMEBTAXTAHHIA VA
28,181,0008 * 7/100 * 1.1 2,170
SR Mg AEY
120,600,000% * 7/100 * 1.1 9,287
UM gREs)| PEHY
14,000,0002 * 14} 14,000
—ATELO RN 4| 52,205
B2 220l Al A E (UNS)
46,500,0002! * 10/100 * 1.1 5,115
-OIAMM Z20HE
12,000,0002! * 10/100 * 1.1 1,320
- ZH 0/ Xl DBMS
8,727,008 * 10/100 = 1.1 960
CEEH D2
130,464,810% + 8/100 * 1.1 1,481
HMIZTH OBMS
37,750,0008 * 10/100 * 1.1 4,153
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- EXIZ2IAIAE DBMS
37,750,000& * 10/100 = 1.1 4,153
-HIESIZ 1P 22l S/W
26,655,000& * 10/100 = 1.1 2,933
- HSHEAMAE S/W
29,000,000& * 10/100 = 1.1 3,190
- CUZT0AIAE
16,000,000& * 10/100 = 1.1 1,760
NLoa SEHEBAAH
2,800,000& * 1.1 3,080
- 2Hte, AHUWAEZ SHOIX |FXE=
107,809,700 = 10/100 = 1.1 11,860
- SHOIKN SSdAHIA AIAE
20,000,000 = 10/100 * 1.1 2,200
— EotEH SN2 182,238
UHER3 BHOIHAAXHEAIAE
48,000,000& * 10/100 * 1.1 5,280
B 80,091,000& * 10/100 = 1.1 8,811
HEHSY Yo
103,507,000& * 8/100 = 1.1 9,109
NHE 23t
27,000,000 = 10/100 * 1.1 2,970
F QRS E QWX AIALIPS
35,775,0002 = 10/100 * 1.1 3,936
-HER3 2 MO0 AIAEINAC
99,300,000& * 10/100 * 1.1 10,923
- CIOIEHIOl A S otAIAE
101,045,000 * 8/100 = 1.1 8,892
- BERIIGOHA(USB) BOFAIAE
55,800,000 = 10/100 * 1.1 6,138
- X, Rrab2e| AlAE (PCE o)
46,400,000& * 10/100 * 1.1 5,104
-SYHATERO XHAAE
39,000,000& * 10/100 = 1.1 4,290
OB NI AlA
15,700,000& * 10/100 = 1.1 1,727
-EHOIX & ZHOMH 2ot
27,000,000& * 10/100 = 1.1 2,970
CHYISY HUYTAAE
72,994,000& * 10/100 * 1.1 8,030
QSO EHQUXIEAIAH
33,000,000 = 10/100 * 1.1 3,630
- AEFELRAIAE
70,548,000& * 10/100 * 1.1 7,761
EAMECHAIAH
89,500,000& * 8/100 * 1.1 7,876
SEE 2 HIAIAE (H/W)
146,973,000& * 7/100 = 1.1 11,317
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- S OF2EHIAIAEL(S/W)
89,227,000 = 8/100 * 1. 7,852
- S5 oF2HI Al A & (DBMS)
50,000,000 = 10/100 * 1. 5,500
- AMOIHEMNUHS A AE
234,250,000 = 10/100 * 1. 25,768
- 22 DDoS 2 XHHAIAE
49,500,000€¢ = 10/100 * 1. 5,445
- LI 2 DDoS =22 XAl AE!
48,000,000&¢ = 10/100 * 1. 5,280
QY SHEE(AOE) IHAIAE
42,909,090 = 10/100 * 1. 4,720
CEHOIX BHAE 24 ArE
52,600,700 = 8/100 = 1. 4,629
- ZSHOIX GIOIEHIOIA LSSEAIAE
36,000,000& * 8/100 = 1. 3,168
- QHIYEHOIX IIEE BotAIAE
24,000,000€ * 8/100 = 1. 2,112
SHOEE 25 AAH
68,918,182 = 10/100 * 1. 7,582
- EHOIX BLEX & XCSHAIAE
32,227,000 = 8/100 = 6/12 * 1. 1,418
403 XX SHHS K20 & 114,627 102,963 11,664
02 BII2S0CHSCHE AFS I 114,627 102,963 11,664
OXXIEH 2S0I8t dAEH X 22
1,070,957,450& = 7.5/100 80,322
OXNEHAE2IAAE (e-&X) SA 22
22,208,000 * 14! 22,208
OAZF MolERAIAE SX 22
5,097,000& = 14l 5,097
OXUHEMZSHBANALY AUl AHAD 2
7,000,000& = {14 7,000
AEH B2 478,900 319,750 159, 150
201 YuHe | 52,900 31,200 21,700
01 AP 2t 2| H| 52,900 31,200 21,700
OgeEATENH 2 52,900
—5t2 60,000& =* 450user 27,000
— NS IO A 450,000 * 20user 9,000
—YEX 45 ,000& * 60user 2,700
— I EN 1,100,000& = 5user 5,500
—QEIHE 1,500,000& =* Buser 7,500
—2LEIHE AEAIEHA 14
300,000& =* 4user 1,200
207 I & 30,000 0 30,000
02 & A 2| 30,000 0 30,000
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O=2LIctAlAE DBE 2 AIAE 2tol&d A
30,000,000& * 14 30,000
405 RHoHF S HI 396,000 288,550 107,450
01 AL EZFH S 396,000 288,550 107,450
Osd & HHHE 253Ul (VPN) WA
40,000,000& * 24! 80,000
OSdes Fxe (L) w
25,000,000& * 24l 50,000
OREUERD BotAlAY =
70,000,000& * 14! 70,000
O&Fa &28&I #2  28,000,0008 * 14! 28,000
OYeE HLEH 72 168,000
—da32s 1,000,000& * 100CH 100,000
— 2LUH 450,000& = 100CH 45,000
-LE=S 2,000,000& * 40K 8,000
— ZgH 500,000& = 30CH 15,000
NAEE =3 18,120 15,595 2,525
201 Let24d] 16,120 13,595 2,525
01 At 22l 16,120 13,595 2,525
OZRHZFHEESY AU 3,680
—ZE23s3 2H(CBTAIAL)
50,000& = 138 = 609 3,000
—NEASLY
15,000& = 2AI2F = 6H = 13l 180
— 3l Es oM 250,000& * 2H& = 13 500
OXIAZEs WEWM
10,000& * 18J| » 23HA 4,140
OX3ZEs ws 2AE
30,000& = 10AI2t = 182| 5,400
OWsE ARSs3HI 100,000& * 10& 1,000
OZFEStuEsd AL =44 1,900
—ZEH EUd 200,000& = 23| = 1CH 400
—3dFH =2 100,000& * 10CH 1,000
—YHOEZHE =g 500,000& = 1CH 500
303 &3 2,000 2,000 0
01 Z2&= 2,000 2,000 0
OZLALFESESS FAUE Ty
2,000,000& * 14 2,000
NUYHYSEFZANLAEXRA(R) 49,566 42,554 7,012
= 12,219
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201 Let24d] 49,566 42,554 7,012
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01 At 22l 49,566 42,554 7,012
Oogxs 49,566
— M2 380Igt «=ZHl uM ¥ 2L
ZEtALE 31,852,000& * 14 31,852
= 8,194
Al 23,658
—ANZFHHHERANAE F=SAY
17,714,0008 * 14 17,714
= 4,025
Al 13,689
NEF3Es =8 381,590 462,497 80,907
= 4,572
< 25,757
Al 351,261
SHOIX 29 230,894 318,650 AB7,756
201 Let24d] 22,894 38,650 A 15,756
01 At 22l 12,000 30,000 A 18,000
OZMHOIXl PCEOtZZ )Y
10,000,000& = 14l 10,000
OXNSEEsII=AHE &It &S|
1,000,000& = 14 1,000
OXNSEHES I =AHE MN EIHRE =<
1,000,000 = 14 1,000
02 2324l 10,894 8,650 2,244
OZMOIXl Z2H & 0 ZcIAN0E AE=
1,000,000 = 14 1,000
OZHILZEHOIX 228 ADEDIDI MEE
70,000 = 128 = 14 840
OZHOIXl =S ANHIA AIEE
60,000 * 12& 720
OZHOoIXl Jls =t 550,000& =« 103l 5,500
OEHOIX MWAFBIIHANAHE SN2
26,423,000& = 13/100 = 9/12 = 1.1 2,834
207 A O & H] 85,000 155,000 A70,000
01 2284 40,000 0 40,000
OgFAl NEFB3I2HE 8
40,000,000& * 14l 40,000
02 & AR I 45,000 155,000 A 110,000
OSNS 28l= gy & 299
25,000,000 * 14l 25,000
OZBILEHOIX Jls HA
20,000,000& * 14l 20,000
405 XHobF S HI 123,000 125,000 A 2,000
01 et ESFH S 123,000 125,000 A 2,000
OZEMHIOIXl 202 DNS & AlAE
28,000,000 * 14 28,000
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OZHOIX &AMHIA SLIHE AlAE
50,000,000& * 14l 50,000
OSHOIX & 239 45,000,000& = 14! 45,000
ANEZE3 AHY =& 28,884 22,635 6,249
201 Let2d] 17,695 13,955 3,740
01 At 22l 17,695 13,955 3,740
OASIZEES WEWMH
10,000& * 150| » 20&A 3,000
OAMEIEEs ws ZAE
30,000& = 20Al2t = 152] 9,000
OFUFEB0SAE s WY
10,000& = 2& » 170Hx 340
OFUZE0EANE A2 =4H] 5,355
—ZEH EUd 200,000& * 13 = 170Hx 3,400
—JlZ ARESHI
10,0002 * 3&Z = 17JH2A = 50% 255
—dFH =a 100,000& = 17J0H2 = 50% 850
— ZEH =2l 100,000& = 17JH2 * 50% 850
301 et A= 1,280 1,200 80
09 AL HIZ &S 1,280 1,200 80
Ok Z=2=23 80tg =M &4 0dl
80,000& = 10¥ * 1 * 13 800
OFEsNE d=0s &4 ol
80,000& = 6Y = 1 » 13| 480
308 X EHH SOl A 9,909 7,480 2,429
07 IXNHHARE = 9,909 7,480 2,429
OSHQEH 0I8AX Ha ALY
9,909,000& * 14! 9,909
2302 T2 22 X(=) 33,432 33,432 0
= 4,572
S 6,857
Al 22,003
307 glz2tol & 33,432 33,432 0
= 4,572
< 6,857
Al 22,003
02 P HAHEE 33,432 33,432 0
O3Es0tg T2 0gaelh 29 33,432
— oY 15,240,000& = 2% * 90/100 27,432
= 4,572
= 6,857
Al 16,003
—40f 282 & E&Z  3,000,000& * 2H 6,000
FE0IsSAE XN (%) 63,480 63,480 0
< 18,900
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Al 44,580
101 14l 63,480 63,000 480
< 18,900
Al 44,580
04 JI2ZtHZ22HEE = 63,480 63,000 480
OXNAZEESZ A BHXIAHY 63,000
— o 44,6402 * 6% » 163Y 43,658
< 18,900
Al 24,758
— Fi=g 44 6403 * 6Y » 31 8,304
— s sSsIt=E 44,6402 * 6F * 8L 2,143
—us, 2AH| 3,000& = 6¥ = 163 2,934
— 40 2= 5,961,000& * 14 5,961
OXNSEES A d&d3a WK
80,000& * 6% » 1« 480
dESNES2S 24,900 24,300 600
201 €24 11,700 10,900 800
01 At 22/l 2,000 2,000 0
OZEs0E S22 (HEY 3) MH
1,000,000& * 14! » 200 A& 2,000
02 =224l 9,700 8,900 800
OZES0IE SHOIXN RXE=
35,000,000& * 10/100 = 20H&A = 1.1 7,700
OZEs0te 32 dH MAEH |SXE=H
1,000,000& * 200 A& 2,000
301 et d = 8,800 10,400 A 1,600
09 SAAHIE &S 8,800 10,400 A 1,600
OZE0IE 2LE us It
80,000& = 5% * 53| » 204 4,000
OZE0IE A L3tu=
80,000& = 10 * 23| » 204 3,200
OZE0IES HAEH FIH0OHI
80,000& = 10 * 12 = 204 1,600
307 2201 A 2,400 3,000 A 600
02 IS AHE L 2,400 3,000 A 600
OX¥Est0t2 HAE EIHI(EXE 90%)
1,200,000& * 200 A& 2,400
405 Xt&tE SHI 2,000 0 2,000
01 XL = ZH SH| 2,000 0 2,000
O&E=Zs0tS EHO0lX 2el& CIXIE3tolet
1,000,000& =+ 2CH 2,000
S (Le3S#HH /Lot H) 569,195 391,755 177,440
< 10,000
Al 559,195
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sl 569,195
< 10,000
Al 559,195
sdl2tel 509,195
201 LBH2EH| 363,095
01 At 22l 65,210
OHINIIHSHE M 1,000& = 1,500% 1,500
OMETZAL E8HES AEIH HME
500,000& * 12 500
OSH8HS, AL ARA IXZEFN GE 0l&
A Xl 200,000& * 2700 A 5,400
OFUHSAEIE FH(AAHE, sII=4H,
=80 F4+H) 1,000,000& * 404 A 4,000
Os4&4 MF ZHI 2,000,000 *1JH A& 2,000
OIPLED| GEIHE 2U(IASMIIE 2/)
5,000,000& = 20H 10,000
OZAESI EYH ¥
90,000& = 2CH » 12& 2,160
OHs MR MA(FE2SAXJAE)
1,000& = 1,00004 1,000
Olisl 8 SstdZS MA(ZESAX AL
650,000& * 14 650
OUsl EHOIX 25 JJt M4EH(FESAX
2et) 1,000,000& * 14 1,000
Otlg EHOXN =5 =&3d i =2 (H
SEAX 28 200,000& = 59 1,000
OZSY ZIIE L&Y L saEH SRS
SEAX 28 300,000& * 15014 * 4L 18,000
OZTgazs 2 S23Y HIIE M YR
FESAXAL) 300,000& * 60K A 18,000
232%4| 297,885
Odszel 833 10,000,000& * 12& 120,000
O=2It13284d Mate=a  400,0008 * 12 4,800
ONUAESIHE MNEZE
25,0003 = 15034 = 123 45,000
Ostdae= 100,000& » 6CH = 128 7,200
OEIJtY M3 (LB #HALE) 1,400
—HARs 8,000& * 50CH 400
—EHIIMNS M3 20,000 * 50CH 1,000
oglgts B2Y 36,720
—ZNESUL(NE-CFH)
3,000,000& * 12& 36,000
—UlHEE3E AIEZ 60,000& » 12& 720
O=28 SsHZs8 sldAER
2,500,000& * 33l 7,500
OA&ZHl ®Xdl 49,365
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el AR (crl ®a)
A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
— Mt aEE X 169,072,000& = 7/100 11,836
—SSHZSAHH 34,100,000& * 7/100 2,387
- 7,840,800 = 7/100 549
— 23S A (S/WEE)
3,314,897 = 7/100 233
— 83| 394,559,000 = 7/100 27,620
—SHN 10,941,920 = 7/100 766
—VOIP Z3tE 50,593,950& * 7/100 3,542
— S HAEX 34,737,350& * 7/100 2,432
OArEd ZALEHl WEH| 700,000& = 4CH 2,800
OFUEz |FANE+ 5,500,000& * 14 5,500
Osdla &s5TH RAE=+
3,000,000& * 14l 3,000
OUsl SUAA Ol82(FESAX|E) 14,600
— Y SLHAER 100,000& =+ 603 & 6,000
— ChD] LErMS Ho Y SIHAMER
40,000 * 1403l & 5,600
—SSHEZ LAEZ 3,0008 * 1,000 3,000
207 A RO 50,000 0 50,000
02 M AR 2] 50,000 0 50,000
Ozl EHOIXN *E(FE2SUXRAE)
50,000,000& = 14l 50,000
308 XiXI A S O & 8,400 19,600 A11,200
07 IXSHHM AR L= 8,400 19,600 A 11,200
Os0E Z2UHAINLNL 2=
8,400,000& 14! 8,400
401 AIEHI L 20 30,000 0 30,000
01 A& HI 30,000 0 30,000
OSdal ZAIHHAIAS SXI(3MW, ZHIZO0H)
10,000,000& * 14 10,000
OZJ&EYE SUAME 83 & FH(FESUX
2eh) 20,000
—F IE SHAE ZHSA
10,000,000 * 14 10,000
—E=5E I SNUL EXSA
10,000,000 * 14 10,000
405 TtabF S| 57,700 60,000 A 2,300
01 AL ESFHSHI 57,700 60,000 A 2,300
OlIP&E I 2 500,000& = 20CH 10,000
OCIpE 3t 7 30,000& = 100CH 3,000
O=sxHAAHE 2 40,000,000& = 14! 40,000
Onga v 2 1,100,000& * 14l 1,100
OLAHEA 3 P (FESAX AL
40,000& = 90CH 3,600
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HH: SNBE(AUBTHY/LUHET)

ool sl (SHol: @)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
HASIOAAE 2el(E) 60,000 0 60,000

< 10,000
Al 50,000
401 AIEHI L 2CHYI 60,000 0 60,000
< 10,000
Al 50,000
01 Al £ HI 60,000 0 60,000
OAlZ SY3AANLE ==Y WA
60,000,000& * 14 60,000
< 10,000
Al 50,000
HY2HZH(E2II&A)(IIEHIIE 119,524 108,910 10,614
=23l 119,524 108,910 10,614
Jl=23dHl 119,524 108,910 10,614
201 LBt2 S 26,124 23,510 2,614
01 At 22l bl 26,124 23,510 2,614
O=ZAEXN 7 15,0008 » 228t A » 123 3,960
OEZ20HAHI 6,000 = 641 » 22 = 12 9,504
Ogite=2 100,000& * 12& 1,200
O4Lna2 EXMEH 50,000& » 12& 600
Oar2 =4t 9,540
— SAI =2 500,000& * 1.5CH 750
— ZgH el 100,000¥ * 5CH = 50/100 250
—SAMI ENH 200,000 * 53] * 1.504 1,500
—ZgH EU(E%) 200,0008 * 53 * 504 5,000
— D2 EU(Z2h) 200,0008 « 53 = 104 1,000
—PC =2l 100,000& 2208 = 20/100 440
— JIE #=elhl 50,000& » 123 600
OJIE ArR22lH 5,000 + 229 * 128 1,320
202 o4 Hl 88,000 80,000 8,000
01 SLHOHI 88,000 80,000 8,000
Os=278d 2= oyl 88,000
— 2t o4 bl 20,000% » 229 » 122 * 128 63,360
— 22l 04 dl 80,000& = 22g8 = 14& 24,640
203 =AY 4,200 4,200 0
04 BH2HAREAY| 4,200 4,200 0
ORN2EERFAH 350,000 * 128 4,200
204 XM H| 1,200 1,200 0
01 MM SR 1,200 1,200 0
OAMUZURTHIH(ELIELH)
100,000& * 18 = 123 1,200




